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All questions are compulsory.

Questions number 1 - 5 are of 1 mark each. The answers to these questions should
not exceed 20 words each.

Questions number 6 - 10 are of 2 marks each. The answers to these questions should
not exceed 40 words each.

Questions number 11 - 16 are of 4 marks each. The answers to these questions should
not exceed 100 words each.

Questions number 17 - 21 are of § marks each. The answers to these questions should
not exceed 150 words each.

Question number 21 is a map-based question. Write its answers in your
answer-book.

Questions number 22 - 27 are of 6 marks each. The answers to these questions should
not exceed 150 words each.



1. TH Fi el 9 ¢ T Yo o gfaer g5 vd get o1 sfaem § 2 1

Why is it said that history of petroleum is also the history of war and
struggles ?

2. YRAdE fRam Ifem @ Fafya feam, <o & sifysm s fpai 9 hg fy 92 1

How did the farmers associated with Bharatiya Kisan Union differ from the
most other farmers in India ?

3. TET I H, TUR < % FB TSHITaH gt a1 T8 To1 7l 91d 9 ff aRa &1 s 1
STARIRT o g aTt T2 o 19 3Tek gt =1fey ?

During Nehru era, why did some political parties and groups in our country
believe that India should be more friendly with the bloc led by the U.S. ?

4. Oifgad =een & fHiaen 3 fF=fafea § 9 fege! vea =& fean? 1

o (a} *

(2) Tosit 9ufa &t o |

(b) FHM & fagid T A &1 i |
(© TRt <& eTan gfquet &1 #is & T8 |

d) 3T L R IT F hig AT & |

Which one of the following was NOT given primacy by the makers of the Soviet
System ?

(a) Abolition of private property.
(b) Society based on the principle of equality.
() No opposition party to be allowed.

(d) No state control over economy.

5. AN (TLUEIWTA) & @S &1 Wdish fa=e () o gurtan § 2 1
What does the logo on the ASEAN flag symbolise ?
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1960 % T o YRH | TMFI HERIRA & 19 gL IHeial 1 9 fhgl 31 1 3eoi@
i 2x1=2

Mention any two of the agreements signed between the two super powers starting
in the 1960s.

‘MM = @R’ 7 o1 ? 30d o ge™ i wreell & & 39 ugE 2 141=2

What was ‘Operation Blue Star’ ? Why did it hurt the sentiments of the Sikh
Community ?

YRA § GrgeIeh Higk o1 T i foun § dIcM1 3Taa ha™ STse i e 2
1 SATheA hfTT |

Assess the role of Maulana Abul Kalam Azad towards maintaining communal
harmony in India.

TSIl STeIaaTR! STialerd i S qHeT Fi 3R hy 9T g1 ? 2

Why and how did the Mizo Movement for succession gain popular support ?

wWH ‘A’ ¥ fqu T frefafed a2l sl W B € THereRt a1 qof Sig sMRe . 4x76=2

T A’ B’

() SiTE S T AT () TR = fog
(i) 1967 - 1969 T YRA & IY-THFHA (b) STTSitEA |
(iii) 1977 - 79 T YRA & ST-THFHA (¢ .9 I
(iv) 1952 9 1977 I 9Rd & He™ Tl d) TR <HE
Match the following in Column ‘A’ with those in Column ‘B’ in a meaningful
way :

Column ‘A’ Column ‘B’
(1) Head of the Commission of Enquiry (a) Chowdhary

Charan Singh
(11) Deputy Prime Minister of India from 1967 to 1969 (b) Jagjiwan Ram
(111) Deputy Prime Minister of India from 1977 - 79 (¢ dJ.C.Shah
(1v) Union Minister of India from 1952 - 1977 (d) Morarji Desai
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12,

13.

14.

15.

16.
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= ol sTdeeRe § UR & dEs[E, =M ol S W T fohdl IR ThRIcHe gl
1 Iead I | dx1=4
Inspite of improvement in the Chinese economy, there have been negative

consequences affecting the people of China. Mention any four such
consequences.

TRURE TR AT o Toh T & €9 § TS I § 1 U § 2 58k 1 o9
%7 2+2=4

What is meant by alliance building as a component of traditional security
policy ? What are its advantages ?

URd T IS0 Ak ' Al Tl T’ i G0N shl T hIfT | 4

Explain the concept of ‘common property resource’ with the help of an example
from India.

Teh g qe foaRuRcds T3eue & ®9 H, HIUT i i il HI AR
FfeT | 2+2=4

Explain the functioning of the Congress Party as an ideological and social
coalition.

URA H ToIedre] 2Tiee o faear o faru ot giiferfaa o1 wderor swifs | 339
2+2=4

Fae o fTT dlies gems |

Examine the conditions responsible for the growth of Naxalite Movement in
India. Suggest ways and means to crush it.

fufsa steferercen o wRdTE Afed & qea YROTH] 61 Jeihd HifeT | 4

Evaluate the major outcomes of the Indian model of mixed economy.

5 P.T.O.



17. &I % oI | ek 271§ e o1 | Jeremifd ga+1 sarel 5@t foh < o
STATYS STt W&t | |rfesh et 1 Jomed! T 2 gt ot SR SR 61 oFel W
T &7 HiSG Tel W&l 3R TR A WIEI 1 ST A1 IE fohal | XA AT
i1 1 T2 e o1 wifeh TRept fearera (Tafaeh) & anfg fere s & stferemisr <

TS i TR ¥ohdl fqu |

FHUY {U T 31EavuT Tl aYdeh Ufey iR FAfafaa uvel & se i

G) ‘wer fama’ (gefee)) 9w oAty ® 2

(i) HHfEH HY JOTCl FH B | AN R Qe &7 v T 2l T4t ?

(iii) I€ Taaul ford S0 O HefYd § 2 TR 1 QR 61 ™[ & IRY fHan ?
1+2+2=5

The value of the ruble declined dramatically. The rate of inflation was so
high that people lost all their savings. The collective farm system disintegrated
leaving people without food security, and the government started to import
food. The old trading structure broke down with no alternative in its place.
The old system of social welfare was systematically destroyed. The withdrawal
of government subsidies pushed large sections of the people into poverty.

Read the above passage carefully and answer the following
questions :

(1) What is meant by subsidy ?

(11) How did the disintegration of collective farm system lead to the loss of food
security ?

(111) This passage is associated to which country ? Why did the government
start importing food ?
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18. < o T YRA o U ST R § & R0 § @™ g | =9 = 1950 | fasaq
TR FHesl AR faaT | 399 9RA AR = & o= Uaeias &9 9 Sl U gehadt 9
ST = T T o, 98 TeH 2 147 | J[E-I[E H YRA THR A = & 59 HeH 6l gol
TR R foiy =181 T | seteTat, fasea &1 W& id &l o &1 el S-S 9
M &, -G IRA &1 da-1 off 9@ | fassa & enfifes =1 <o @ A 9Ra 9
TSTHIfaeR TR0 A 3R 1959 H 9RA ¥ 3% IRV T 1 =T T IR T k9w
HR e R W =4 foriedt nfafafersi 1 gan < @ 2

FJUX ST T 7TawuT i eAMYd e Ufeq a9 Fefatad uoal & I g
G) ‘Teed T 9 = Sty § 2

(i) YR GhR A 91 gN fassa T sestl 2 o4 o1 faiie 1 &1 foran ?

(iii) TS TMET qT TSR] Toeaid] IROMAAT 1 TRA §RT TSIk ST TSH LAl
el dh EitEd § ? 1+2+2=5

Two developments strained this relationship. China annexed Tibet in 1950
and thus removed a historical buffer between the two countries. Initially, the
government of India did not oppose this openly. But as more information came
in about the suppression of Tibetan culture, the Indian government grew
uneasy. The Tibetan spiritual leader, the Dalai Lama, sought and obtained
political asylum in India in 1959. China alleged that the government of India
was allowing anti-China activities to take place from within India.

Read the above passage carefully and answer the following
questions :

(1) What is meant by ‘historical buffer’ ?

(1)) Why didn’t the Government of India oppose the annexation of Tibet by
China ?

(111) How far was it justified on the part of India to grant political asylum to the
Dalai Lama and thousands of Tibetan refugees ?
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19.

I FE WL F
T TR I el
H Tmee < |
THEY SAID
THEY’LL SUPPORT
THE GOVERNMENT

FROM OUTSIDE!

-

ST | \

59/2

FW fqU T HTEA HT SATYdR ANTAT It qT FAferad g9 o N

g :

() U A §R1 1989 H SR TS IR 1 JRET hiA o1 ?

() IHE FR FARA T THR Sl hSYdci! HhR Fil gl STl o1 ?

(iii) 9T ! AT H HSYdcH! i T STl i TEa hiTSIT qAT ITeh Tall o AH

ff faf@au |

1+2+2=5

Study the above cartoon carefully and answer the following

questions :

(1) Who was head of the Government formed by the National Front in 1989 ?

(11) Why was the government formed by him called a puppet government ?

(1) Identify the puppeteers pulling the strings and the political parties they

belong to.
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(19.1)

(19.2)

(19.3)

Note :

(19.1)

(19.2)

(19.3)

FfafEd I9, shael grgaTter Uaemfeii & o I9e 9&1 19 & ¥

‘T(%\’:

1989 H T A 5N 918 T8 TR 1 TEHA hiv o1 ?

1984 qAT 1989  WARIH ATl H HiUg Ul ohl fhaft-forat €

foyedt 2

HSd AN i TAWHINET o4 off ?

1+2+2=5

The following questions are for the visually impaired candidates

only in lieu of Q No. 19 :

Who was the Prime Minister of the government formed by the

National Front in 1989 ?

How many seats did the Congress Party win in the Lok Sabha

elections of 1984 and 1989 respectively ?

What were the recommendations of the Mandal Commaission ?

P.T.O.



20. SATATHIOT & I T hl qTehd B HHT AT BI-THT I1G 21 | TSHITTh T
% YR o ®9 H TF h1 AT S IS AT T THell & IR 7 39 71 § o
ff @ T fova &1 TeEifa § o ot fafy= e & o9 Hisg gt =t 8iR
GfagTeal 1 TEA © | I HMFA SR LT, T YI&T Sid 3794 A wraf &l
T H R T 3R 9gd Tra-THeiHT 3707 FHeH <1 Sl ¥ Wi ® € 96l St ueil
B T et oft HEegul 9 g |

THA: S TFA H AT & Hera®d I3 Hi ahd | SRl gl T | 3Td
Tl & B9 | STy UEifieel GiSg § 9% Jd TF o704 TrTRe o an
=T ST Heh % |
FHUY ST T TEaRT i SAYEeh Uiy aeT Fefaiad uo=t & 3a gy @
G TS & < gaityes Afard &l & 9 ¥ 2

(i) STYTE UENRTRT fohd YR ToT T J5aR T HIH o IR FANI & 7

(i) Ueh STEX ! TR ¥ I LAY HhifTY foh TR0l & T &1 d1hd H If5
BT 2 1+242=5

Globalisation does not always reduce state capacity. The primacy of the

state continues to be the unchallenged basis of political community. The old
jealousies and rivalries between countries have not ceased to matter in world
politics. The state continues to discharge its essential functions (law and order,
national security) and consciously withdraws from certain domains from which
it wishes to. States continue to be important.

Indeed, in some respects state capacity has received a boost as a
consequence of globalisation, with enhanced technologies available at the
disposal of the state to collect information about its citizens.

Read the passage given above carefully and answer the following
questions :

(1) What are the two most essential functions of the state ?
(1)) How do enhanced technologies enable the state to rule better ?

(1) Justify with the help of an example that globalisation gives a boost to the
state capacity.

59/2 10
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() 9w H Sf7 qun 18T SHI YRR 1 IMEA @I R |

(i) T IH Arhdd hi TIRATIT 2006 H T |

(i) € < A} off Tk oA B

(iv) TH Q! GG A I, 2005 H FEH{T H IgIATT JUITE] ] FIH i Tfihid
TS i |

) ﬂ%’ﬁ'ﬂ Wﬁ e dcrnﬁvum ww‘@rﬁ‘g’q H TH 9 T 5x1=5

o

ASIA i
E:‘_E

POLITICAL SCATE

‘
L' . L w
50 ) 7 80

In the given outline map of South Asia, five countries have been marked as
A), (B), (C), (D) and (E). Identify them on the basis of the information given
below and write their correct names in your answer book with their respective
serial number of the information used and the alphabet concerned as per the
following format :

59/2 12
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SR. No. of the
Information used

Alphabet Concerned Name of the Country

() to (v)

(1) The country has experienced civilian as well as military rule both.

(1)) Democracy was restored in this country in 2006.

(111) This country is still a monarchy.

(iv) The Parliament of this country voted unanimously to introduce multi-

party system in June 2005.

(v) This country is a part of India’s ‘Look East Policy via Myanmar’.

(21.1)

(21.2)

(21.3)

Note :

(21.1)

(21.2)

(21.3)

FAfaREd T3 e gReaTierd TreTTieat o et U 9 21 & ¥
‘?IT%\” :

IR FMifd 1 IPKF) &1 gicient F=1 9ol T IR 39T 1 qiom
e ?

TRA-TITREIH o o9 Aa1-STd o dedR T i4d fadarg &l T shifey |

U | Teha o Ao, TEIqA1 e, STeIe el aTel Shid o ?
2+2+1=5

The following questions are for visually impaired candidates only

in lieu of Q No. 21.

Why was Indian Peace Keeping Force sent to Sri Lanka and to what
result ?

Explain Indo - Pak problem of sharing of river waters.

Who led the pro-democratic, largely non-violent, movement in
Nepal ?

13 P.T.O.



22. 1947H TU 9N & fauree & fordl ©: aRommi =1 fageryo wifs | 6x1=6
3T
IRd § fafera foed & 9eet =vor & qRomdl &1 3Teherd Shifeld | 6
Analyse any six consequences of the partition of India in 1947.

OR

Assess the outcomes of the early phase of planned development in India.

N o

23. Gifgad 99 3= 4 faufed & T ? i ©: HRO TR HIGT | 6x1=6

YT
fgdta foea g5 &t Tt <l Sitd qg 1 IREY R GHS AW 91?7 A hitsg | 6
How did the Soviet Union suddenly disintegrate ? Explain any six reasons.
OR

Why was the end of the Second World War considered to be the beginning of
Cold War ? Explain.

24, 1992 H G T i A I H Wihd TXE H HIK T2 Y& TROS & T a
HI-TT 1 ferehrerdi b1 fstor fohan T o 2 e aioe &t 78 TRl ewral & fau

q&dTted foh=al di MG el ol AU ehiteld | 3+3=6
3AUAT

I T TIRIRE G0N § 1 STTYTT § 7 Aol ki L&l Frae Hehiol a0

ek AU § R T T | 2+2+2=6

Which three complaints related to the U.N. Security Council were reflected in
the resolution passed by the U.N. General Assembly in 1992 ? Describe any
three criteria that have been proposed for new permanant members of the
Security Council.

OR

What is meant by non-traditional notion of security ? Differentiate between
the narrow and the broad concept of human security.

59/2 14



25. 1967 H T A9 M FAE % THE, <0 H T TG Qe ohl THEI0 HifT | 6
3reEr

JATYTAhRTA k] YR TSI 1 Tod faaerae ST =&l He a1 2 ? fe=i dF

RN 1 TaveIoT Hifed | 3x2=6

Examine the major changes that the country witnessed at the time of fourth
general election in 1967.

OR

Why is emergency considered to be one of the most controversial episodes in
Indian politics ? Analyse any three reasons.

26. ‘‘g9@ W HE IH & fau gfeRiy € U u faweu §'' | S9! g o gEE- 6
foret Yol | ik 39 HeM @ Siifac fag sitag |

SREN

ek Ifofen |8 o ®9 H, AMHIE (TTHLTTA) i YfHehl 1 3Thar HifSC | 6

“Resistance is the only option available to overcome the hegemony”. Justify
the statement by comparing it to other antihegemony strategies.
OR

Assess the role of ASEAN as an economic association.

27. S ST & fohwal ©: TN 1 T HifIT | 6x1=6

UTAT

STH T ShTHI T TR AT TSTHITTeh ST 91 § 7 STH] A heHi i FHe]

1 37 ol TSl 1 T RIS 7 % FHROT IR THR S T&T 1 T ST T

& forq =& g e 2+4=6
Describe any six advantages of popular movements.

OR

What is the social and political composition of Jammu and Kashmir ? Describe

the roots of ‘Kashmir Issue’ which compelled the Indian Government to maintain
autonomy in this state.
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